

$$Ans1 = (k = 8), \quad , \quad Ans2 = (k = 4), \quad , \quad Ans3 = \begin{bmatrix} a = 5 \\ b = -2 \end{bmatrix}, \quad , \quad Ans4 = \begin{bmatrix} a = 5 \\ b = 3 \end{bmatrix}$$

$$Ans5 = \begin{bmatrix} .1 = (2, 9) \\ .2 = (6, 41) \\ .3 = 8 \\ .4 = (3, 14) \\ .5 = 5 \\ .6 = 4 \end{bmatrix}, \quad , \quad Ans6 = \begin{bmatrix} .1 = [f(a) = 133] \\ .2 = [f(b) = 146.12, h = 0.2, RateOfChange = 65.600] \\ .3 = [f(c) = 139.48, h = 0.1, RateOfChange = 64.800] \\ .4 = [f(d) = 133.6408, h = 0.01, RateOfChange = 64.080] \\ .5 = [RateOfChange \text{ at the point } a = 64] \end{bmatrix}$$

$$Ans7 = \begin{bmatrix} .1 = [f(r) = 2 \pi r] \\ .2 = [f(r + h) = 2 \pi (r + h)] \\ .3 = \left[\frac{2 \pi (r + h) - 2 \pi r}{h} \right] \\ [.4 = [2 \pi], .5 = [2 \pi], .6 = [2 \pi]] \end{bmatrix}, \quad , \quad Ans8 = \begin{bmatrix} .1 = [f(r) = \pi r^2] \\ .2 = [f(r + h) = \pi (r + h)^2] \\ .3 = \left[\frac{\pi (r + h)^2 - \pi r^2}{h} \right] \\ [.4 = [2 \pi r], .5 = [4 \pi], .6 = [14 \pi]] \end{bmatrix}$$

$$Ans9 = \begin{bmatrix} .1 = \left[f(x) = \frac{\sqrt{3} x^2}{4} \right] \\ .2 = \left[f(x + h) = \frac{\sqrt{3} (x + h)^2}{4} \right] \\ .3 = \left[\frac{\frac{\sqrt{3} (x + h)^2}{4} - \frac{\sqrt{3} x^2}{4}}{h} \right] \\ [.4 = \left[\frac{\sqrt{3} x}{2} \right], .5 = \left[\frac{3 \sqrt{3}}{2} \right], .6 = [4 \sqrt{3}]] \end{bmatrix}, \quad , \quad \begin{bmatrix} M \\ a \\ t \\ h \\ @ \\ M \\ U \\ T \end{bmatrix}$$

$$Ans1 = (k = 2), \quad , \quad Ans2 = (k = 2), \quad , \quad Ans3 = \begin{bmatrix} a = 6 \\ b = 1 \end{bmatrix}, \quad , \quad Ans4 = \begin{bmatrix} a = 3 \\ b = 5 \end{bmatrix}$$

$$Ans5 = \begin{bmatrix} .1 = (1, 2) \\ .2 = (6, 37) \\ .3 = 7 \\ .4 = (2, 5) \\ .5 = 3 \\ .6 = 2 \end{bmatrix}, \quad , \quad Ans6 = \begin{bmatrix} .1 = [f(a) = 50] \\ .2 = [f(b) = 54.92, h = 0.2, RateOfChange = 24.600] \\ .3 = [f(c) = 52.43, h = 0.1, RateOfChange = 24.300] \\ .4 = [f(d) = 50.2403, h = 0.01, RateOfChange = 24.030] \\ .5 = [RateOfChange at the point a = 24] \end{bmatrix}$$

$$Ans7 = \begin{bmatrix} .1 = [f(r) = 2 \pi r] \\ .2 = [f(r + h) = 2 \pi (r + h)] \\ .3 = \left[\frac{2 \pi (r + h) - 2 \pi r}{h} \right] \\ [.4 = [2 \pi], .5 = [2 \pi], .6 = [2 \pi]] \end{bmatrix}, \quad , \quad Ans8 = \begin{bmatrix} .1 = [f(r) = \pi r^2] \\ .2 = [f(r + h) = \pi (r + h)^2] \\ .3 = \left[\frac{\pi (r + h)^2 - \pi r^2}{h} \right] \\ [.4 = [2 \pi r], .5 = [16 \pi], .6 = [6 \pi]] \end{bmatrix}$$

$$Ans9 = \begin{bmatrix} .1 = \left[f(x) = \frac{\sqrt{3} x^2}{4} \right] \\ .2 = \left[f(x + h) = \frac{\sqrt{3} (x + h)^2}{4} \right] \\ .3 = \left[\frac{\frac{\sqrt{3} (x + h)^2}{4} - \frac{\sqrt{3} x^2}{4}}{h} \right] \\ [.4 = \left[\frac{\sqrt{3} x}{2} \right], .5 = \left[\frac{7 \sqrt{3}}{2} \right], .6 = [4 \sqrt{3}] \end{bmatrix}, \quad \begin{bmatrix} M \\ a \\ t \\ h \\ @ \\ M \\ U \\ T \end{bmatrix}$$

:
:
:
:
:
:

$$Ans1 = (k = 29), \quad , \quad Ans2 = (k = 3), \quad , \quad Ans3 = \begin{bmatrix} a = 23 \\ b = 1 \end{bmatrix}, \quad , \quad Ans4 = \begin{bmatrix} a = 8 \\ b = 4 \end{bmatrix}$$

$$Ans5 = \begin{bmatrix} .1 = (3, 9) \\ .2 = (7, 41) \\ .3 = 8 \\ .4 = (4, 14) \\ .5 = 5 \\ .6 = 4 \end{bmatrix}, \quad , \quad Ans6 = \begin{bmatrix} .1 = [f(a) = 5] \\ .2 = [f(b) = 7.52, h = 0.2, RateOfChange = 12.600] \\ .3 = [f(c) = 6.23, h = 0.1, RateOfChange = 12.300] \\ .4 = [f(d) = 5.1203, h = 0.01, RateOfChange = 12.030] \\ .5 = [RateOfChange at the point a = 12] \end{bmatrix}$$

$$Ans7 = \begin{bmatrix} .1 = [f(r) = 2 \pi r] \\ .2 = [f(r + h) = 2 \pi (r + h)] \\ .3 = \left[\frac{2 \pi (r + h) - 2 \pi r}{h} \right] \\ [.4 = [2 \pi], .5 = [2 \pi], .6 = [2 \pi]] \end{bmatrix}, \quad , \quad Ans8 = \begin{bmatrix} .1 = [f(r) = \pi r^2] \\ .2 = [f(r + h) = \pi (r + h)^2] \\ .3 = \left[\frac{\pi (r + h)^2 - \pi r^2}{h} \right] \\ [.4 = [2 \pi r], .5 = [4 \pi], .6 = [8 \pi]] \end{bmatrix}$$

$$Ans9 = \begin{bmatrix} .1 = \left[f(x) = \frac{\sqrt{3} x^2}{4} \right] \\ .2 = \left[f(x + h) = \frac{\sqrt{3} (x + h)^2}{4} \right] \\ .3 = \left[\frac{\frac{\sqrt{3} (x + h)^2}{4} - \frac{\sqrt{3} x^2}{4}}{h} \right] \\ [.4 = \left[\frac{\sqrt{3} x}{2} \right], .5 = [3 \sqrt{3}], .6 = \left[\frac{5 \sqrt{3}}{2} \right]] \end{bmatrix}, \quad , \quad \begin{bmatrix} M \\ a \\ t \\ h \\ @ \\ M \\ U \\ T \end{bmatrix}$$

:
:
:
:
:
:

$$\text{Ans1} = (k = 4), \quad \text{Ans2} = (k = 6), \quad \text{Ans3} = \begin{bmatrix} a = -17 \\ b = 1 \end{bmatrix}, \quad \text{Ans4} = \begin{bmatrix} a = 2 \\ b = 4 \end{bmatrix}$$

$$\text{Ans5} = \begin{bmatrix} .1 = (3, 7) \\ .2 = (6, 28) \\ .3 = 7 \\ .4 = (4, 12) \\ .5 = 5 \\ .6 = 4 \end{bmatrix}, \quad \text{Ans6} = \begin{bmatrix} .1 = [f(a) = 32] \\ .2 = [f(b) = 37.88, h = 0.2, \text{RateOfChange} = 29.400] \\ .3 = [f(c) = 34.87, h = 0.1, \text{RateOfChange} = 28.700] \\ .4 = [f(d) = 32.2807, h = 0.01, \text{RateOfChange} = 28.070] \\ .5 = [\text{RateOfChange at the point } a = 28] \end{bmatrix}$$

$$\text{Ans7} = \begin{bmatrix} .1 = [f(r) = 2 \pi r] \\ .2 = [f(r + h) = 2 \pi (r + h)] \\ .3 = \left[\frac{2 \pi (r + h) - 2 \pi r}{h} \right] \\ [.4 = [2 \pi], .5 = [2 \pi], .6 = [2 \pi]] \end{bmatrix}, \quad \text{Ans8} = \begin{bmatrix} .1 = [f(r) = \pi r^2] \\ .2 = [f(r + h) = \pi (r + h)^2] \\ .3 = \left[\frac{\pi (r + h)^2 - \pi r^2}{h} \right] \\ [.4 = [2 \pi r], .5 = [4 \pi], .6 = [8 \pi]] \end{bmatrix}$$

$$\text{Ans9} = \begin{bmatrix} .1 = \left[f(x) = \frac{\sqrt{3} x^2}{4} \right] \\ .2 = \left[f(x + h) = \frac{\sqrt{3} (x + h)^2}{4} \right] \\ .3 = \left[\frac{\frac{\sqrt{3} (x + h)^2}{4} - \frac{\sqrt{3} x^2}{4}}{h} \right] \\ [.4 = \left[\frac{\sqrt{3} x}{2} \right], .5 = [4 \sqrt{3}], .6 = \left[\frac{3 \sqrt{3}}{2} \right]] \end{bmatrix}, \quad \begin{bmatrix} M \\ a \\ t \\ h \\ @ \\ M \\ U \\ T \end{bmatrix}$$

:
:
:
:
:
:

$$Ans1 = (k = 0), \quad , \quad Ans2 = (k = 3), \quad , \quad Ans3 = \begin{bmatrix} a = -16 \\ b = 3 \end{bmatrix}, \quad , \quad Ans4 = \begin{bmatrix} a = 2 \\ b = 6 \end{bmatrix}$$

$$Ans5 = \begin{bmatrix} .1 = (4, 7) \\ .2 = (9, 42) \\ .3 = 7 \\ .4 = (5, 10) \\ .5 = 3 \\ .6 = 2 \end{bmatrix}, \quad , \quad Ans6 = \begin{bmatrix} .1 = [f(a) = 65] \\ .2 = [f(b) = 73.68, h = 0.2, RateOfChange = 43.400] \\ .3 = [f(c) = 69.27, h = 0.1, RateOfChange = 42.700] \\ .4 = [f(d) = 65.4207, h = 0.01, RateOfChange = 42.070] \\ .5 = [RateOfChange at the point a = 42] \end{bmatrix}$$

$$Ans7 = \begin{bmatrix} .1 = [f(r) = 2 \pi r] \\ .2 = [f(r + h) = 2 \pi (r + h)] \\ .3 = \left[\frac{2 \pi (r + h) - 2 \pi r}{h} \right] \\ [.4 = [2 \pi], .5 = [2 \pi], .6 = [2 \pi]] \end{bmatrix}, \quad , \quad Ans8 = \begin{bmatrix} .1 = [f(r) = \pi r^2] \\ .2 = [f(r + h) = \pi (r + h)^2] \\ .3 = \left[\frac{\pi (r + h)^2 - \pi r^2}{h} \right] \\ [.4 = [2 \pi r], .5 = [6 \pi], .6 = [8 \pi]] \end{bmatrix}$$

$$Ans9 = \begin{bmatrix} .1 = \left[f(x) = \frac{\sqrt{3} x^2}{4} \right] \\ .2 = \left[f(x + h) = \frac{\sqrt{3} (x + h)^2}{4} \right] \\ .3 = \left[\frac{\frac{\sqrt{3} (x + h)^2}{4} - \frac{\sqrt{3} x^2}{4}}{h} \right] \\ [.4 = \left[\frac{\sqrt{3} x}{2} \right], .5 = [4\sqrt{3}], .6 = [3\sqrt{3}] \end{bmatrix}, \quad , \quad \begin{bmatrix} M \\ a \\ t \\ h \\ @ \\ M \\ U \\ T \end{bmatrix}$$

$$Ans1 = (k = 7), \quad , \quad Ans2 = (k = 5), \quad , \quad Ans3 = \begin{bmatrix} a = -21 \\ b = 1 \end{bmatrix}, \quad , \quad Ans4 = \begin{bmatrix} a = 5 \\ b = 7 \end{bmatrix}$$

$$Ans5 = \begin{bmatrix} .1 = (2, 7) \\ .2 = (5, 28) \\ .3 = 7 \\ .4 = (3, 12) \\ .5 = 5 \\ .6 = 4 \end{bmatrix}, \quad , \quad Ans6 = \begin{bmatrix} .1 = [f(a) = 33] \\ .2 = [f(b) = 38.88, h = 0.2, RateOfChange = 29.400] \\ .3 = [f(c) = 35.87, h = 0.1, RateOfChange = 28.700] \\ .4 = [f(d) = 33.2807, h = 0.01, RateOfChange = 28.070] \\ .5 = [RateOfChange at the point a = 28] \end{bmatrix}$$

$$Ans7 = \begin{bmatrix} .1 = [f(r) = 2 \pi r] \\ .2 = [f(r + h) = 2 \pi (r + h)] \\ .3 = \left[\frac{2 \pi (r + h) - 2 \pi r}{h} \right] \\ [.4 = [2 \pi], .5 = [2 \pi], .6 = [2 \pi]] \end{bmatrix}, \quad , \quad Ans8 = \begin{bmatrix} .1 = [f(r) = \pi r^2] \\ .2 = [f(r + h) = \pi (r + h)^2] \\ .3 = \left[\frac{\pi (r + h)^2 - \pi r^2}{h} \right] \\ [.4 = [2 \pi r], .5 = [14 \pi], .6 = [16 \pi]] \end{bmatrix}$$

$$Ans9 = \begin{bmatrix} .1 = \left[f(x) = \frac{\sqrt{3} x^2}{4} \right] \\ .2 = \left[f(x + h) = \frac{\sqrt{3} (x + h)^2}{4} \right] \\ .3 = \left[\frac{\frac{\sqrt{3} (x + h)^2}{4} - \frac{\sqrt{3} x^2}{4}}{h} \right] \\ [.4 = \left[\frac{\sqrt{3} x}{2} \right], .5 = [4 \sqrt{3}], .6 = [2 \sqrt{3}]] \end{bmatrix}, \quad , \quad \begin{bmatrix} M \\ a \\ t \\ h \\ @ \\ M \\ U \\ T \end{bmatrix}$$

:
:
:
:
:
:

$$\text{Ans1} = (k = 8), \quad , \quad \text{Ans2} = (k = 6), \quad , \quad \text{Ans3} = \begin{bmatrix} a = -2 \\ b = 59 \end{bmatrix}, \quad , \quad \text{Ans4} = \begin{bmatrix} a = 6 \\ b = 4 \end{bmatrix}$$

$$\text{Ans5} = \begin{bmatrix} .1 = (2, 10) \\ .2 = (6, 42) \\ .3 = 8 \\ .4 = (3, 15) \\ .5 = 5 \\ .6 = 4 \end{bmatrix}, \quad , \quad \text{Ans6} = \begin{bmatrix} .1 = [f(a) = 43] \\ .2 = [f(b) = 49.20, h = 0.2, \text{RateOfChange} = 31.000] \\ .3 = [f(c) = 46.05, h = 0.1, \text{RateOfChange} = 30.500] \\ .4 = [f(d) = 43.3005, h = 0.01, \text{RateOfChange} = 30.050] \\ .5 = [\text{RateOfChange at the point } a = 30] \end{bmatrix}$$

$$\text{Ans7} = \begin{bmatrix} .1 = [f(r) = 2 \pi r] \\ .2 = [f(r+h) = 2 \pi (r+h)] \\ .3 = \left[\frac{2 \pi (r+h) - 2 \pi r}{h} \right] \\ [.4 = [2 \pi], .5 = [2 \pi], .6 = [2 \pi]] \end{bmatrix}, \quad , \quad \text{Ans8} = \begin{bmatrix} .1 = [f(r) = \pi r^2] \\ .2 = [f(r+h) = \pi (r+h)^2] \\ .3 = \left[\frac{\pi (r+h)^2 - \pi r^2}{h} \right] \\ [.4 = [2 \pi r], .5 = [16 \pi], .6 = [4 \pi]] \end{bmatrix}$$

$$\text{Ans9} = \begin{bmatrix} .1 = \left[f(x) = \frac{\sqrt{3} x^2}{4} \right] \\ .2 = \left[f(x+h) = \frac{\sqrt{3} (x+h)^2}{4} \right] \\ .3 = \left[\frac{\frac{\sqrt{3} (x+h)^2}{4} - \frac{\sqrt{3} x^2}{4}}{h} \right] \\ [.4 = \left[\frac{\sqrt{3} x}{2} \right], .5 = [4 \sqrt{3}], .6 = [2 \sqrt{3}] \end{bmatrix}, \quad , \quad \begin{bmatrix} M \\ a \\ t \\ h \\ @ \\ M \\ U \\ T \end{bmatrix}$$

:
:
:
:
:
:

$$Ans1 = (k = 4), \quad , \quad Ans2 = (k = 4), \quad , \quad Ans3 = \begin{bmatrix} a = 2 \\ b = 18 \end{bmatrix}, \quad , \quad Ans4 = \begin{bmatrix} a = 8 \\ b = 3 \end{bmatrix}$$

$$Ans5 = \begin{bmatrix} .1 = (4, 9) \\ .2 = (7, 30) \\ .3 = 7 \\ .4 = (5, 14) \\ .5 = 5 \\ .6 = 4 \end{bmatrix}, \quad , \quad Ans6 = \begin{bmatrix} .1 = [f(a) = 65] \\ .2 = [f(b) = 73.68, h = 0.2, RateOfChange = 43.400] \\ .3 = [f(c) = 69.27, h = 0.1, RateOfChange = 42.700] \\ .4 = [f(d) = 65.4207, h = 0.01, RateOfChange = 42.070] \\ .5 = [RateOfChange at the point a = 42] \end{bmatrix}$$

$$Ans7 = \begin{bmatrix} .1 = [f(r) = 2 \pi r] \\ .2 = [f(r+h) = 2 \pi (r+h)] \\ .3 = \left[\frac{2 \pi (r+h) - 2 \pi r}{h} \right] \\ [.4 = [2 \pi], .5 = [2 \pi], .6 = [2 \pi]] \end{bmatrix}, \quad , \quad Ans8 = \begin{bmatrix} .1 = [f(r) = \pi r^2] \\ .2 = [f(r+h) = \pi (r+h)^2] \\ .3 = \left[\frac{\pi (r+h)^2 - \pi r^2}{h} \right] \\ [.4 = [2 \pi r], .5 = [12 \pi], .6 = [16 \pi]] \end{bmatrix}$$

$$Ans9 = \begin{bmatrix} .1 = \left[f(x) = \frac{\sqrt{3} x^2}{4} \right] \\ .2 = \left[f(x+h) = \frac{\sqrt{3} (x+h)^2}{4} \right] \\ .3 = \left[\frac{\frac{\sqrt{3} (x+h)^2}{4} - \frac{\sqrt{3} x^2}{4}}{h} \right] \\ [.4 = \left[\frac{\sqrt{3} x}{2} \right], .5 = \left[\frac{3 \sqrt{3}}{2} \right], .6 = [2 \sqrt{3}]] \end{bmatrix}, \quad , \quad \begin{bmatrix} M \\ a \\ t \\ h \\ @ \\ M \\ U \\ T \end{bmatrix}$$

:
:
:
:
:
:
:

$$Ans1 = (k = 4), \quad , \quad Ans2 = (k = 5), \quad , \quad Ans3 = \begin{bmatrix} a = 5 \\ b = 3 \end{bmatrix}, \quad , \quad Ans4 = \begin{bmatrix} a = 6 \\ b = 3 \end{bmatrix}$$

$$Ans5 = \begin{bmatrix} .1 = (4, 8) \\ .2 = (7, 23) \\ .3 = 5 \\ .4 = (5, 11) \\ .5 = 3 \\ .6 = 2 \end{bmatrix}, \quad , \quad Ans6 = \begin{bmatrix} .1 = [f(a) = 121] \\ .2 = [f(b) = 134.12, h = 0.2, RateOfChange = 65.600] \\ .3 = [f(c) = 127.48, h = 0.1, RateOfChange = 64.800] \\ .4 = [f(d) = 121.6408, h = 0.01, RateOfChange = 64.080] \\ .5 = [RateOfChange at the point a = 64] \end{bmatrix}$$

$$Ans7 = \begin{bmatrix} .1 = [f(r) = 2 \pi r] \\ .2 = [f(r+h) = 2 \pi (r+h)] \\ .3 = \left[\frac{2 \pi (r+h) - 2 \pi r}{h} \right] \\ [.4 = [2 \pi], .5 = [2 \pi], .6 = [2 \pi]] \end{bmatrix}, \quad , \quad Ans8 = \begin{bmatrix} .1 = [f(r) = \pi r^2] \\ .2 = [f(r+h) = \pi (r+h)^2] \\ .3 = \left[\frac{\pi (r+h)^2 - \pi r^2}{h} \right] \\ [.4 = [2 \pi r], .5 = [14 \pi], .6 = [10 \pi]] \end{bmatrix}$$

$$Ans9 = \begin{bmatrix} .1 = \left[f(x) = \frac{\sqrt{3} x^2}{4} \right] \\ .2 = \left[f(x+h) = \frac{\sqrt{3} (x+h)^2}{4} \right] \\ .3 = \left[\frac{\frac{\sqrt{3} (x+h)^2}{4} - \frac{\sqrt{3} x^2}{4}}{h} \right] \\ [.4 = \left[\frac{\sqrt{3} x}{2} \right], .5 = \left[\frac{3 \sqrt{3}}{2} \right], .6 = \left[\frac{5 \sqrt{3}}{2} \right]] \end{bmatrix}, \quad \begin{bmatrix} M \\ a \\ t \\ h \\ @ \\ M \\ U \\ T \end{bmatrix}$$

$$Ans1 = (k = 4), \quad , \quad Ans2 = (k = 4), \quad , \quad Ans3 = \begin{bmatrix} a = -4 \\ b = 2 \end{bmatrix}, \quad , \quad Ans4 = \begin{bmatrix} a = 7 \\ b = 3 \end{bmatrix}$$

$$Ans5 = \begin{bmatrix} .1 = (3, 11) \\ .2 = (5, 23) \\ .3 = 6 \\ .4 = (4, 16) \\ .5 = 5 \\ .6 = 4 \end{bmatrix}, \quad , \quad Ans6 = \begin{bmatrix} .1 = [f(a) = 86] \\ .2 = [f(b) = 94.20, h = 0.2, RateOfChange = 41.000] \\ .3 = [f(c) = 90.05, h = 0.1, RateOfChange = 40.500] \\ .4 = [f(d) = 86.4005, h = 0.01, RateOfChange = 40.050] \\ .5 = [RateOfChange at the point a = 40] \end{bmatrix}$$

$$Ans7 = \begin{bmatrix} .1 = [f(r) = 2 \pi r] \\ .2 = [f(r + h) = 2 \pi (r + h)] \\ .3 = \left[\frac{2 \pi (r + h) - 2 \pi r}{h} \right] \\ [.4 = [2 \pi], .5 = [2 \pi], .6 = [2 \pi]] \end{bmatrix}, \quad , \quad Ans8 = \begin{bmatrix} .1 = [f(r) = \pi r^2] \\ .2 = [f(r + h) = \pi (r + h)^2] \\ .3 = \left[\frac{\pi (r + h)^2 - \pi r^2}{h} \right] \\ [.4 = [2 \pi r], .5 = [16 \pi], .6 = [12 \pi]] \end{bmatrix}$$

$$Ans9 = \begin{bmatrix} .1 = \left[f(x) = \frac{\sqrt{3} x^2}{4} \right] \\ .2 = \left[f(x + h) = \frac{\sqrt{3} (x + h)^2}{4} \right] \\ .3 = \left[\frac{\frac{\sqrt{3} (x + h)^2}{4} - \frac{\sqrt{3} x^2}{4}}{h} \right] \\ [.4 = \left[\frac{\sqrt{3} x}{2} \right], .5 = [2 \sqrt{3}], .6 = [3 \sqrt{3}]] \end{bmatrix}, \quad , \quad \begin{bmatrix} M \\ a \\ t \\ h \\ @ \\ M \\ U \\ T \end{bmatrix}$$

$$Ans1 = (k = 3), \quad , \quad Ans2 = (k = 6), \quad , \quad Ans3 = \begin{bmatrix} a = 3 \\ b = 1 \end{bmatrix}, \quad , \quad Ans4 = \begin{bmatrix} a = 5 \\ b = 8 \end{bmatrix}$$

$$Ans5 = \begin{bmatrix} .1 = (3, 6) \\ .2 = (6, 21) \\ .3 = 5 \\ .4 = (4, 9) \\ .5 = 3 \\ .6 = 2 \end{bmatrix}, \quad , \quad Ans6 = \begin{bmatrix} .1 = [f(a) = 49] \\ .2 = [f(b) = 56.44, h = 0.2, RateOfChange = 37.200] \\ .3 = [f(c) = 52.66, h = 0.1, RateOfChange = 36.600] \\ .4 = [f(d) = 49.3606, h = 0.01, RateOfChange = 36.060] \\ .5 = [RateOfChange at the point a = 36] \end{bmatrix}$$

$$Ans7 = \begin{bmatrix} .1 = [f(r) = 2 \pi r] \\ .2 = [f(r + h) = 2 \pi (r + h)] \\ .3 = \left[\frac{2 \pi (r + h) - 2 \pi r}{h} \right] \\ [.4 = [2 \pi], .5 = [2 \pi], .6 = [2 \pi]] \end{bmatrix}, \quad , \quad Ans8 = \begin{bmatrix} .1 = [f(r) = \pi r^2] \\ .2 = [f(r + h) = \pi (r + h)^2] \\ .3 = \left[\frac{\pi (r + h)^2 - \pi r^2}{h} \right] \\ [.4 = [2 \pi r], .5 = [14 \pi], .6 = [6 \pi]] \end{bmatrix}$$

$$Ans9 = \begin{bmatrix} .1 = \left[f(x) = \frac{\sqrt{3} x^2}{4} \right] \\ .2 = \left[f(x + h) = \frac{\sqrt{3} (x + h)^2}{4} \right] \\ .3 = \left[\frac{\frac{\sqrt{3} (x + h)^2}{4} - \frac{\sqrt{3} x^2}{4}}{h} \right] \\ [.4 = \left[\frac{\sqrt{3} x}{2} \right], .5 = [2 \sqrt{3}], .6 = \left[\frac{7 \sqrt{3}}{2} \right]] \end{bmatrix}, \quad , \quad \begin{bmatrix} M \\ a \\ t \\ h \\ @ \\ M \\ U \\ T \end{bmatrix}$$

